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ofcycles in a random permutation

· Recall:permutation -a rearrangement of a distinctobjects.

There are n! permutations (S1:E2)

· I permutation breaks down into cycles.
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⑳Whatis E#Cycles) in a mutation?&draun from the setof all as permutations

with uniform probability.
· Intuition:cycle has length an (e.g. u), nextmy, ... loge.

·reforeunder

meatiesenf.To each element in a cycle oflength t,
assign weight: =Y:

Sum of all weight=#cycle. E.g, here sum=
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· Formally, lit

Y,
==length of the cycle theelement j is in;
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all equalby symmetry-
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P31 is in a cycle oflength k3 =I(41)

· E()=Ei=E(x) =EE. OED
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